

$$t_n = 5, 9, 13, 17, \dots$$

$+4 \quad +4$

$$t_n = 4n + 1$$

ب) صوابی دهم:

$$t_{10} = 10 \times 4 + 1 = 41$$

$$t_n = 4, 10, 16, 22, 28, 34, 40, 46, 52, 58, 64, 70, 76, 82, 88, 94, 100$$

$+6 \quad +6 \quad +6 \quad +6 \quad +6 \quad +6 \quad +6 \quad +6 \quad +6 \quad +6$

الف) مجموع ۱۰ جمله اول:

ب) مجموع ۱۰ صوابی نخست:

$$t_{10} = 100$$

$$t_{100} = 100 \times 6 + 4 = 604$$

$$t_n = 1 + \sqrt{3}, 2, 3 - \sqrt{3} \rightarrow d = 1 - \sqrt{3}$$

افزار صوابی ۲۳، ۲۵، ۲۷:

$$t_{25} - t_{23} = 2d = 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$$

$$a_n = \Delta^m, 2 \times \Delta^m, \Delta^y \rightarrow \Delta \times \Delta^m = \Delta^y$$

$$\Delta^{m+1} = \Delta^y \rightarrow m+1 = y$$

$$b_n = n, 2, y \rightarrow 2 = \frac{n+y}{2} \rightarrow n+y = 4$$

$$2m - y = -1$$

$$3m = 3 \rightarrow m = 1$$

$$2m-2, 2m-1, y, 2m$$

$$(2m-1) + 3 = 4m$$

$$2m+2 = 4m \rightarrow 2m = 2 \rightarrow m = 1$$

$$t_4 = 4m+3 = 4 \times 1 + 3 = 7$$

$$a_n = 2, 5, 9, 11, \dots \rightarrow a_n = 2n+1 \rightarrow 2 \times 20 + 1 = 41$$

جواب: 41

$$b_n = 2, 5, 11, \dots \rightarrow b_n = 3n-1 \rightarrow 3 \times 20 - 1 = 59$$

$$4n-1 \leq 41 \rightarrow 4n \leq 42 \rightarrow n \leq 10.5 \rightarrow n \leq 10$$

$$4n-1 \leq 59 \rightarrow 4n \leq 60 \rightarrow n \leq 15$$

$n \leq 10$

$$a_1 + a_r + a_s = 21 \rightarrow a_r + d + a_r + a_s + d = 21 \rightarrow 2a_r + a_s + 2d = 21$$

$$a_1 + a_r + a_s = 105 \rightarrow a_s - 2d + a_r + a_s + 2d = 105 \rightarrow 2a_s = 105$$

$$d = a_s - a_r = 35 - 7 = 28$$

$$a_1 = a_r - d = 7 - 28 = -21 \rightarrow a_s - a_r + a_1 = 35 - 7 - 21 = 7$$

$$a_1 + a_r + a_s = 15 \rightarrow 2a_1 + 2d = 15 \rightarrow a_1 + d = 7.5$$

$$a_r + a_s = 25 \rightarrow 2a_1 + 2d = 25$$

$$2a_1 + 2d = 25$$

$$a_{10} = a_1 + 9d = 7 + 9 \times 2 = 25$$

$$S_9 = 9S_r \rightarrow \frac{a_{10}}{a_v} = \frac{a_1 + 9d}{a_1 + 4d} = \frac{25}{13} \rightarrow \frac{a_1 + 9d}{a_1 + 4d} = \frac{25}{13}$$

$$\frac{1}{r}(a_1 + 11d) - \frac{r}{r}(a_1 + 2d) = a_1$$

$$\frac{1}{r}(a_1 + 11d) - \frac{r}{r}(a_1 + 2d) = a_1$$

$$\frac{1}{r}a_1 + \frac{11}{r}d - \frac{r}{r}a_1 - \frac{2}{r}d = a_1 \rightarrow 2a_1 = d \rightarrow a_1 = \frac{d}{2}$$

$$t_1 = 11$$

$$t_v = 35 \rightarrow 11 + 4d = 35 \rightarrow 4d = 24 \rightarrow d = 6 \rightarrow t_r = t_1 + 2d = 11 + 12 = 23$$

$$b_1 = 31 \quad b_n = 13$$

$$b_r = t_r \rightarrow b_r = 23 \rightarrow b_1 + 2d = 23 \rightarrow 2d = -12 \rightarrow d = -6$$

$$d = \frac{b_n - b_1}{n+1} \rightarrow -6 = \frac{13 - 31}{n+1} \rightarrow -6(n+1) = -18 \rightarrow n+1 = 3 \rightarrow n = 2$$

$$n = 2$$